BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Reference: EXAM / SPADHI / BITIC / KOLKATA / BBA-FIFTH / (MO/15) 2015-2016

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2015

Date : 16-FEB-2016

SESSION	: 2015-2016 CLASS :	BBA		В	RANCE	I : MA	NAGEN	MENT					SEMES	TER / T	RIMEST	ΓER :	FIFTH		MONTH OF EXAM		: NOV-2015	
ROLL NO	NAME		BBA	5001(3)	BBA:	BBA5003(3)		BBA5011(2)		BBA5013(3)		BBA5014(3)		BBA1003(3)		3001(3)	BBA3007(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/45001/13	RISHOV MUKHERJEE	U	B+	21.0	B+	21.0	B+	14.0	С	15.0	A	24.0	-	-	-	-	-	-	95.0	14.0	6.79	-
		II	- A	24.0	- B+	21.0	В	12.0	- C	15.0	В	18.0	_	<u> </u>				<u> </u>				
BBA/45002/13	SK MD FAIQUE SAJJAD	L	-	-	-	-	-	-	-	-	-	-	-	-	-	_	_	-	90.0	14.0	6.43	-
DD 4 /45002/12	THINIMAL	U	В	18.0	В	18.0	B+	14.0	С	15.0	С	15.0	-	-	-	-	-	<u> </u>	00.0	14.0	5.71	
BBA/45003/13	TUHIN MAL	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	80.0	14.0	5.71	-
BBA/45004/13	SAKSHI BAJORIA	U	A	24.0	B+	21.0	Α	16.0	В	18.0	A+	27.0	-	-	-	-	-	-	106.0	14.0	7.57	-
		L	-	-	-	-		-	-	<u> </u> -	-	-	-	-	-	-	-	-				
BBA/45006/13	BBA/45006/13 VISHLEY CHACKO VARGHESE	U	A	24.0	B+	21.0	A	16.0	B -	18.0	A+	27.0	-	-	-	-	-	- -	106.0		7.57	
		U	A+	27.0	A	24.0	A+	18.0	A	24.0	A+	27.0		<u> </u>			<u> </u>	<u> </u>		14.0	8.57	1
BBA/45007/13	5007/13 TANYA KUMARI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-		-	120.0			-
DD 4 /45000/12	GANDALITA GANGODALA	U	A	24.0	B+	21.0	A	16.0	В	18.0	A	24.0	-	-	-	-	-	-	103.0	14.0	7.36	-
BBA/45008/13	SHRUTI SNIGDHA	L	-	-	-	-	-	-	-	<u> </u>	+	-	-	-	╁-ぱ	-	-	<u> </u>				
BBA/45014/13	SHUBHAM CHOUDHARY	U	С	15.0	В	18.0	С	10.0	D	12.0	В	18.0	-	-	D	12.0	С	15.0	100.0	20.0	5.00	
BBA/43014/13	SHUBHAW CHOUDHAR I	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	100.0	20.0	3.00	-
BBA/45016/13	AMAN RAJ	U	A	24.0	B+	21.0	Α	16.0	B+	21.0	Ex	30.0	-	-	-	-	-	-	112.0	14.0	8.00	_
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			<u> </u>	
BBA/45017/13	ANINDITA BHOWMIK	U	B+	21.0	В	18.0	С	10.0	C -	15.0	B+	21.0	-	-	-	-	-	-	85.0	14.0	6.07	-
		L	- A	24.0	B+	21.0	- B+	14.0	C	15.0	В	18.0	_					<u> </u>		14.0		-
BBA/45019/13	PRATAP TIRKEY	L	- A	-	-	-	-	-	-	-	-	-	-	<u>-</u>	-	-	-	-	92.0		6.57	
DD 4 /45020/12	DATHIL MICDIA	U	A	24.0	B+	21.0	Α	16.0	В	18.0	В	18.0	-	-	-	-	-	-	07.0	#	#	
BBA/45020/13	RAHUL KHEDIA		-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	97.0	14.0	6.93	-

BBA5001(3) : ENTREPRENEURSHIP AND SMALL BUSINESS BBA5003(3) : INTERNATIONAL TRADE & BUSINESS BBA5011(2) : E-COMMERCE : HOSPITALITY MANAGEMENT BBA5013(3) BBA5014(3) : PROJECT-I : BUSINESS STATISTICS BBA1003(3) BBA3001(3) : RESEARCH METHALOGY : INTRODUCTION TO FINANCIAL MARKETS BBA3007(3)

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Reference: EXAM / SPADHI / BITIC / KOLKATA / BBA-FIFTH / (MO/15) / 2015-2016

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2015

Date : 16-FEB-2016

SESSION	SESSION: 2015-2016 CLASS: BBA BRANCH: MANAGEMENT SE												SEMES	TER / TI	RIMEST	ER :	FIFTH		MONTH OF EXAM : NOV-2015			
ROLL NO	NAME		BBA5001(3)		BBA5003(3)		BBA5011(2)		BBA:	BBA5013(3)		BBA5014(3)		BBA1003(3)		001(3)	BBA3007(3)		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/45022/13	DEBROOP CHAKRABORTY	U L	B+	21.0	B+	21.0	В	12.0	C	15.0	B+	21.0	-	-	-	-	-	-	90.0	14.0	6.43	-
DD 4 /45022/12	ANIVID VIDAAD DOV CHOWDIHIDV	U	B+	21.0	B+	21.0	B+	14.0	В	18.0	F	0.0	-	-	-	-	-	-	74.0	14.0	5 20	
BBA/45023/13	ANKUR KUMAR ROY CHOWDHURY	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	74.0	14.0	5.29	-
BBA/45025/13	ANAND KUMAR	U	С	15.0	В	18.0	В	12.0	С	15.0	В	18.0	-	-	-	-	-	-	78.0	14.0	5.57	-
		L	-	-	-	-	-	-	-	-	-	-	-	-	-		-	<u> </u>		1	 	
BBA/45026/13	RITIKA	L	A+	27.0	_ A	24.0	A+	18.0	_ A	24.0	_ A	24.0	-	<u> </u>	-	_ <u>- </u>	-	 	117.0	14.0	8.36	-
BBA/45030/13 ABHINAV PARMAR	U	B+	21.0	B+	21.0	A	16.0	С	15.0	B+	21.0	-	-	-	-	-	-	94.0	14.0	6.71		
	ABHINAV PARMAR	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	94.0	14.0	0.71	
BBA/45031/13	BALMUKUND KUMAR	U	B+	21.0	В	18.0	B+	14.0	С	15.0	B+	21.0	-	-	-	-	-	-	89.0	14.0	6.36	-
		L	-	-	-	-		-	_	-	-	-	-	-	-		-	<u> </u>				<u> </u>
BBA/45033/13	NIKHIL SHEKHAR	U	B+	21.0	В	18.0	B+	14.0	В -	18.0	В	18.0	-	-	-	-	-	- -	89.0	14.0	6.36	
		П	B+	21.0	В	18.0	A	16.0	В	18.0	A	24.0										
BBA/45036/13	KRISHNANDAN KUMAR	L	-	-	-	-	-	-	-	-	-	-	_	-	-	-	-	-	97.0	14.0	6.93	-
BBA/45037/13	AANCHAL SHARMA	U	С	15.0	В	18.0	В	12.0	С	15.0	B+	21.0	-	-	-	-	-	-	81.0	14.0	5.79	_
BBA/43037/13	AANCHAL SHARWA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	81.0	14.0	3.19	-
BBA/45040/13	AJAY PRATAP YADAV	U	A	24.0	B+	21.0	B+	14.0	В	18.0	B+	21.0	-	-	-		-		98.0	14.0	7.00	_
		L	-	-	-	-	-	-	-	-	-	-	-	-	-	<u> </u>	-	<u> </u>				
BBA/45041/13 APURWA GUPTA	APURWA GUPTA	L	B+	21.0	B+ -	21.0	- A	16.0	B+	21.0	- A	24.0	-	-	-	-	-	-	103.0	14.0	7.36	-
DD 4 /45042/12	DILID VIIMAD CHAW	U	С	15.0	В	18.0	B+	14.0	С	15.0	С	15.0	_	_	-		-		77.0	14.0	#	
BBA/45043/13	DILIP KUMAR SHAW	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	//.0		5.50	-

BBA5001(3) : ENTREPRENEURSHIP AND SMALL BUSINESS BBA5003(3) : INTERNATIONAL TRADE & BUSINESS BBA5011(2) : E-COMMERCE : HOSPITALITY MANAGEMENT BBA5013(3) BBA5014(3) : PROJECT-I : BUSINESS STATISTICS BBA1003(3) BBA3001(3) : RESEARCH METHALOGY : INTRODUCTION TO FINANCIAL MARKETS BBA3007(3)

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA)

EXAMINATION DEPARTMENT

Reference: EXAM / SPADHI / BITIC / KOLKATA / BBA-FIFTH / (MO/15) 2015-2016

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2015

Date : 16-FEB-2016

SESSIC	ON : 2015-2016	BRANCH : MANAGEMENT										S	SEMES	STER / T	ΓRIME	MONTH OF EXAM : NOV-2015							
ROLL NO	NAME	L	В	BBA5001 (3)		BBA5003 (3)		BBA5011 (2)		BBA5013 (3)		BBA5014 (3)		BBA1003 (3)		BBA3001 (3)		3007	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS	
			GI	R. PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.					
BBA/45044/13	ANNU KUMARI	U	F	* 0.0	F*	0.0	F*	0.0	F*	0.0	F	0.0	-	-	-	-	-	_	0.0	14.0	0	F* IN : BBA5001, BBA5003, BBA5013, BBA5011	
			<u>- 1</u>		-	-	-	-	-			-	-		_							BBA3011	
BBA/45045/13	NISHANT KISHORE		C	15.0	С	15.0	С	10.0	С	15.0	В	18.0	С	15.0	-	-	-	-	88.0	17.0	5.18	-	
BB11 100 10/13				- -	-	-	-	-	-	-	-	-	-	-	-		-		00.0	17.0			
BBA///50//6/13	RAJAT RASHMI	U	В	+ 21.0	B+	21.0	B+	14.0	С	15.0	B+	21.0	-	-	-	-	-	-	92.0	14.0	6.57		
BBA/43040/13	KAJAT KASHWI	I			-	-	-	-	-	-	-	-	-	-	-	-	-	-	72.0	14.0	0.57	-	
BBA///50//8/13	PRIYA KUMARI	U	J A	A 24.0	B+	21.0	Α	16.0	B+	21.0	Α	24.0	-	-	-	-	-	-	106.0	14.0	7.57	_	
BBA/43046/13	I KITA KUMAKI	I	, -		-	-	-	-	-	-	-	-	-	-	-	-	-	-	100.0	14.0	7.57	-	
DD 4 /45050/12	ANURAG SAURABH KERKE	TT A	В	3 18.0	В	18.0	В	12.0	В	18.0	Α	24.0	-	-	-	-	-	-	90.0	14.0	6.43		
BBA/45050/13	ANUKAU SAUKABH KEKKE	I			-	-	-	-	-	-		-	-	-	-		-	-	90.0	14.0	0.43	-	

BBA5001(3)	: ENTREPRENEURSHIP AND SMALL BUSINESS	-	:
BBA5003(3)	: INTERNATIONAL TRADE & BUSINESS	-	:
BBA5011(2)	: E-COMMERCE	-	:
BBA5013(3)	: HOSPITALITY MANAGEMENT	-	:
BBA5014(3)	: PROJECT-I	-	:
BBA1003(3)	: BUSINESS STATISTICS	-	:
BBA3001(3)	: RESEARCH METHALOGY	-	:
BBA3007(3)	: INTRODUCTION TO FINANCIAL MARKETS	-	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.